1.

How many over 50s are currently in employment (total number of
employees)?

5 million 10 million 15 million
Answer: 10 million

By 2030 the figure is expected to reach 27 million an increase of 37%

. In the UK what is the average age women reach the menopause?

50 51 53

Answer: 51

It is a legal requirement for an employer to make workplace
adjustments if a member of their staff is going through the menopause.

True False

Answer: False

What percentage of women experience noticeable changes of the
menopause?

70% 80% 90%

Answer: 80%

How many women experience the menopause before 40 years of
age?

1in 55 1in75 1in 80 1in 100

Answer: 1in 100




